53R I

-6 1FHE (T—28) LB

1-6-1 0ok (FEO. FE®) OXRHFE
1-6-2 [5¥E & B

1-6-3 EEAT a4 T7TEEDHEI




1-6-1 ook (FEO. FEm®) OXRKFE

[EHRE 1bit [BHE 2bit

e 1 EDIEHKE 2 3
-z@@'&gzﬂj/ﬂgc/i/'oo 4 ;
s 3EDEHE — OO0, 00O. 000, 00e

000. 000. 000. 000 8 &Y

s AEDBHR, OOO0O0, OO0e, OO0, OOe®

0000, 0000, 0000, OO0
wrmwe 0000, €000, €000, 0006
- 0000, 0000. 0000, 0000 1 ;= |
ENDEHEE (FHREnE Y P EFTHERBT 2TEY 2% S




1-6-2 I1F¥= & B

B /INBEAST 1y b (bit)

sty = 1,84+ (byte. B)

1 (KB) = 1,024 (B)

1 (MB) = 1,024 (KB) =1,024° (B)
1 (GB) = 1,024 (MB) =1,0243 (B)
1 (TB) = 1,024 (GB) =1,024* (B)
1 (PB) = 1,024 (TB) =1,024°> (B)

20105 = (11,024 ) EILICEVADIEDL S,



2Dt (4K7) DRI
Bl +EODEIMEE2EETERRT 5L

OO00O0O0O0O00000O000
HY H 1) % 1) £ L
1 1 1 0

AT (bit) LWITNEHT, 0D2EY = 24 = 168 Y



10#E204bit (447) DIHES
B (1976) ,, BHITHAET D&

1000x1 100X%9 10Xx7 1X6
1000 900 70 6
1 9 I 6

AHTLNVI N H0~9 D10@EY = 104 =10000:& L) (0~9999)



1-6-3

BLEATA T7TBE=NDEIL
A TAT ~=[B] LB
19708 [htybT—T(1h) 540,000 1
1980t |7OvE—T(RY 1,400,000 3
19804 MOT(RY 640,000,000 1185
198044 |CD-R 700,000,000 1,296
199044t |DVD-R 4,700,000,000 8,704
2000F 4% | J)IL—LA 25000,000,000 46,296
AXRE RO 500,000,000,000 925,926




5,000,000,000
4,000,000,000
3,000,000,000
2,000,000,000

1,000,000,000
0




25,000,000,000
20,000,000,000
15,000,000,000
10,000,000,000

5,000,000,000




500,000,000,000
450,000,000,000
400,000,000,000
350,000,000,000
300,000,000,000
250,000,000,000
200,000,000,000
150,000,000,000

100,000,000,000
50,000,000,000

1 1 1 1 1 1 1 1 1 1
L L' L] - 5
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